SOFT TOP ROOF TENT
INSTRUCTION MANUAL




CONTENTS

SET UP INSTRUCTIONS:

1. INSTALLING YOUR ROOF TOP TENT

2. SETTING UP YOUR ROOF TOP TENT

3. PACKING DOWN YOUR ROOF TOP TENT

4. TIPS & TRICKS

IMPORTANT INFORMATION:
1. IF YOUR TENT WON'T OPEN
2. TROUBLE SHOOTING

3. SPECIFICATIONS

PARTS LIST:

Washer

Plastic nut

M8X50 Plastic cover

Hexagon bolt U-shape stator

Screw
M5X35

Screw
M6X50

® Screw
M5X38

Bolt

M8X50 M5X33

Screw
M5X30
Screw @ Screw

Screw
M5X8

M5X19

I

Screw

P2-3
P4
P5-6
P7

P8
P9-10
P11

Bolt
M8X12
Bolt
M8X20

!

Ii?jﬁ

—®

M6 Nut M5 Nut M8
Flat Washer
Slider block M8 Arc Washer M5 Arc Washer M4 Arc Washer

L shape hex wrench

Accessory pack



SET UP INSTRUCTIONS

1. INSTALLING YOUR ROOF TOP TENT

1. a) You must have roof racks correctly fitted to your

vehicle before installling the Roof Top Tent

1. b) We recommend you place the Roof Top Tent in

the load-bearing position

1. ¢) Adjust the tent to the roofs centre, ensuring the

rear door can be opened/closed

Instructions continued on next page.



SET UP INSTRUCTIONS

1. d) Slide the M8X50 hexagon bolts into the rails from

both sides ensuring you have positioned 8 in total

(see picture 1)

1. e) Replace the plastic covers of your roof racks

(see picture 2)

Picture 2

Washer
L ———@ Plastic nut

N\
| 4 ’
]
=
¥
]
J

a »
-
-f-

M8x50 U-shape stator
Hexagon bolt

Rail

- @ Picture 1

—h

stator in place to all four corners.

(see picture 3)

Instructions continued on next page.

U-shape stator Picture 3

. f) Use the plastic nut, flat and arc washer to fix the M8X50 hexagon head bolt and U-shape



SET UP INSTRUCTIONS

2. SETTING UP YOUR ROOF TOP TENT

2. a) Open the tent cover and run the power cord to

your 12V socket

2. b) Ensure that power has ran from your car to the
tent, press “UP” on your remote control to set up
the tent
(Notice: The “DOWN” button would not function

until the tent is fully setting up. Pressing “STOP”

button for 1s to stop setting up firstly if you need

to set down the tent in the process of setting up.)

2. ¢) Wait a couple of minutes for the tent to set up

automatically

Instructions continued on next page.



SET UP INSTRUCTIONS

3. PACKING DOWN YOUR ROOF TOP TENT

3. a) Secure yourself safely on the ladder, release
the stay bar from the cross pole, position the

stay bar to the original position

3. b) Unlock the ladder by pushing the ladder lock

on the bottom step

3. c) Release the folded ladder from the nylon joints

and place inside the tent

Instructions continued on next page.



SET UP INSTRUCTIONS

3. d) Ensure the power has ran to the tent from your f
car and press the “DOWN?” button on the remote
(Notice: The “UP” button would not function until
the tent is fully setting down. Pressing “STOP”

button for 1s for stopping the setting down firstly

if you need to set up the tent in the process of

setting down.)

3. e) Wait a couple of minutes for the tent to fold

down automatically

3. f) Remove power cord from 12V socket and

cover the Roof top Tent




SET UP INSTRUCTIONS

4. TIPS & TRICKS

* Always ensure the tent is dry before packing away

* Keep the rail of the motorised pushing rod clean

* Ensure ladder is always locked into place and angled away from vehicle



IMPORTANT INFORMATION

If your Roof Top Tent won’t open, check the following:

A. The power cord has been inserted into the 12V socket correctly
In purpose of protecting the motor against the surge current generated by revering action (UP
TO DOWN or DOWN TO UP), the product is built-in protection to avoid directly changing motor
direction. Under this protection, the motor direction cannot be changed during tent moving
process by pressing “DOWN?” or “UP” button directly. Press “STOP” button to stop the moving

process and then press “DOWN?” or “UP” button for changing the setting direction.

B. Check that no objects are in the tent, check to ensure nothing is caught on the motorised rod

C. If the above checks have been completed and still the Roof Top Tent won’t automatically

open, check to see if the motorised pushing rod is damaged

D. If damaged you will need to install a new motorised pushing rod by following the instructions

on the following page



IMPORTANT INFORMATION

TROUBLE SHOOTING:

1. Open the plastic part on the side of frame

2. Pull out the white transmission wire carefully

3. Unscrew the waterproof joint

4. Disconnect the waterproof joint

Instructions continued on next page.



IMPORTANT INFORMATION

5. Pull out the transmission wire from the frame

hole right above

6. Pull out the waterproof joint

7. Use big size hexagon wrench to screw off the

nut on the frame

8. Use small size hexagon wrench to screw off the

nut on the tent pole

8. Install the new motorize pushing rod

(assemble step is opposite to disassemble step)

10



IMPORTANT INFORMATION

SPECIFICATIONS:

Fly: 210D rip-stop polyoxford PU 2000mm with silver coating UPF50+
Inner: 190g polycotton PU 2000mm

Floor: 600g Heavy PVC floor

Frame: Alu. Alloy

Tent cover: 600g/1000 D High Density PVC

Mattress: 7cm high density foam mattress

Technology: 2 x Wireless remote control

Motor: 12VDC, 12W

STRUCTURE:

Size: Standard

Inner tent size: 200(L) x 120(W) x 110/82(H)cm
Packing Size: 225 x 30 x 140cm

Net weight: 56kg(including ladder)

Gross weight: 69kg

Size: Large

Inner tent size: 200(L) x 140(W) x 116/90(H)cm
Packing Size: 225 x 30 x 160cm

Net Weight: 61kg

Gross Weight: 75kg

11





